Secttiom # TL

Wen theory portion&ab# 6

: VQL{D’ _reLieyep) lo’ f‘oﬁaJJdJayU' -

i ‘SOOO 0,000 2/7 Rooo

/ P 'ED‘ULQ volea w-S? u.)m'v")l
CQnaﬂdoJ-e =7

total

\/O‘{.QS =

3300

V)

+ %ooo
ard  vokes o, L date -

, I, TSP
|Sovo+ lo,000 |

1S

|

/—
o by e |

(Percz &fa-ge

g
Pamads

loo

\)

ys.

So /o <P

%&9 vo ey c.? \mvuru, |

Conglidode  one US-Y Ve

Rakio J? angles ) A= 3.4, ¢
J
e ch CLr\q\e z®1

As okad Cmﬂ]\ea..P A =130 |
leds ouider ench ot ¢ i T
0 mwlkiple ‘*P %, SQ,___@LE"_S} |

0 mukiple T



Work on theory portion too


* Eacl qroup  wonsisk al Y oy

CH"LQJ 6 ,c)l'YQS

o ‘*ij
Nno "‘P bO\!S;?

80) (P are 147 Q]irh and

coch  farfop requind ¢ st

then @VM lollﬁ/tol

e \(Jrem:\ il Y
| = groy

@ovs oue ;4{4«::\ reguire/ £

ok _EO,L_"P{ OA’J €0 th 3”\93{2 requires |




ALS  _ GutS — (i)

Add B it A Ped o) vakio )

B+S Fur

Now, €qua fing O & @ we ged,

brt o . Fu

Tw+s 8w

8)4§bF§j = Zu(Zn+S)

8(6u+s) =#iu +9)

%hHJb:‘@u$3£NWWW-A_




e
oSus N\

@VE: ¥
S,
duw ) dhree <onseckive vdd
rombers = Q73
e  number = 7
le¥ e  rumbers be 21 -l 2n4
& 2n4 3
So 2 A+l +20+3 = 233
bn+3 = 973
(2+N\= 273
3
ava——

PR ———




~ &UNORERA 7

. SCHAMOT
« ONLNDO .
- HIODALY
lex  Sara = A,IL N
M = A !
Mother = M H
Thon, as 8‘|ven
68 =M -
2§=A 5®
In_ three vyears —thein oges wild be
S+3, A43 | Ma3 J\

+ M3 = FA

&  Sum P Hein ages = S+3 +A+3 \\

"‘cp(ocha A, & M with &

(n qmen @uation , w___ i
8+3 + 2843+ 6S+3 =70 |




1 il ?;
- 7 |
/,.//“"”' 18 = 1 l

,_::—-‘—‘L———___—'_:—————“"

———
]






